
Quest ce que le cadeau  J' - ? ( )Quel nombre se trouve dans chaque cadeau?
14 ÷ 2 = 80 ÷ 5 = 45 ÷ 15 =270 ÷ 18 = 400 ÷ 20 = 198 ÷ 11 =56 ÷ 8 = 84 ÷ 14 = 49 ÷ 7 =98 ÷ 7 = 63 ÷ 7 = 85 ÷ 17 =133 ÷ 7 = 90 ÷ 18 = 210 ÷ 15 =120 ÷ = 12 77 ÷ = 7 361 ÷ = 19209 ÷ = 19 272 ÷ = 17 198 ÷ = 18160 ÷ = 16 119 ÷ = 17 72 ÷ = 4120 ÷ = 10 56 ÷ = 14 80 ÷ = 5252 ÷ = 14 152 ÷ = 19 210 ÷ = 14÷ 19 = 2 ÷ 7 = 3 ÷ 16 = 12÷ 18 = 9 ÷ 12 = 8 ÷ 20 = 6÷ 18 = 15 ÷ 19 = 12 ÷ 4 = 8÷ 17 = 6 ÷ 14 = 5 ÷ 2 = 12÷ 5 = 10 ÷ 17 = 8 ÷ 18 = 8
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Quest ce que le cadeau  J  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
14 ÷ 2 = 7 80 ÷ 5 = 16 45 ÷ 15 = 3270 ÷ 18 = 15 400 ÷ 20 = 20 198 ÷ 11 = 1856 ÷ 8 = 7 84 ÷ 14 = 6 49 ÷ 7 = 798 ÷ 7 = 14 63 ÷ 7 = 9 85 ÷ 17 = 5133 ÷ 7 = 19 90 ÷ 18 = 5 210 ÷ 15 = 14120 ÷ 10 = 12 77 ÷ 11 = 7 361 ÷ 19 = 19209 ÷ 11 = 19 272 ÷ 16 = 17 198 ÷ 11 = 18160 ÷ 10 = 16 119 ÷ 7 = 17 72 ÷ 18 = 4120 ÷ 12 = 10 56 ÷ 4 = 14 80 ÷ 16 = 5252 ÷ 18 = 14 152 ÷ 8 = 19 210 ÷ 15 = 1438 ÷ 19 = 2 21 ÷ 7 = 3 192 ÷ 16 = 12162 ÷ 18 = 9 96 ÷ 12 = 8 120 ÷ 20 = 6270 ÷ 18 = 15 228 ÷ 19 = 12 32 ÷ 4 = 8102 ÷ 17 = 6 70 ÷ 14 = 5 24 ÷ 2 = 1250 ÷ 5 = 10 136 ÷ 17 = 8 144 ÷ 18 = 8
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